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i2—-1,(1,®, ®?) are the cubic roots of one .

(7 .7 »K)is aright set of unit vectors .
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The number of ways of distributing 8 s oz A w558 Gk e
different awards equally among 4 students S £ e gl
equals ... &9\
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x+y = y-3 I +
@If P, =210, C3 =35, ¢ \'\~=VJU£ y Q\f\b;
thenlzx;y = i -
Yo=_
............ = =00
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or

x>+ y?+22—4x—6y—8z+4=0
is the equation of a sphere whose

center C and radius r ,then.........
@ € (-2,-3,-4),r =5 units
® ¢ (2,3,4),r = 25 units

© € (-2,-3,-4),r = 25 units

@ ¢ (2,3,4),r =5 units
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@ Answer only one of the following two questions : | ,.zs %) (01 iudt asi e cond
A) Put the number Z = 7 +_\/8§l. in the #_ju =& sudlas (l)
trigonometric form, then find the two square 4y o e g @ A2V 5 gl 3
roots of Z in the exponential form. A1 3y gall TR J,jx
B) Prove that : Lol i ()
cos3 0 :% (cos 36 + 3 cosh). (6\:>,-V+9\‘\2>,-);=9r\:?
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@ In the expansion of : 18 Sae B

(1+x)" =1+ a;x + a,x? -

ot tr o by = ()
3 4 n
TAgXT AT kX T o Pt M
+
If% =3,thenn=.......... b

. AL R

Y
............. =0 0L
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@Ifz=(—2,4,6),§=(0,k,3), where ety —) =" 08 13
kEZ+,|IE||=7 , then the value of (v de pp)=0
k=i, V=l oMl Tar D & i

................. = & &3ob

@ 10 ® s Ne N0
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@ f4=(2,1,-2),
A +B=4xE,

¢ (Y= oY) = P oS

-—

o XP=o

+T
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Answer only one of the following two questions : rdaB (e d C (3 T (ye
A)If 4 ,B € R3, then prove that: 2= RO T ()
— =2 = =2 e 2 T eusia
|4 xB|" +|a.B| =|4] [B] o P+ [Tox IO e
YooY o

“ ATl Y =
B)If A =(2cosf, log,x ,sinf),
. Ol v JOk=Y)="P O B3l (o
B = (cos@, logs27 ,2sinf)and (6% ‘fv}} =)= b B BI()

A . B =11, find the value of x , (ek?v‘w‘;"e\b.'):%‘

where 6 is the measure of the angle Lduaagi W= S 08
between the two vectors A and B AN S A B S

(19—t ya i U2sg—o
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@ The conjugate of the number I+tw | a0 +\ suall 3,
1S e,

@1-w — w? o~ Q@ o0
© 1+ w? @D 1 - w? o\ o B
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If (% ,E ,i) are the direction Cw S A g VJ’“J O 13

c c
cosines of a straight line in space , (T ¥ e ) ) asVielsyl
= = =
then be® &7 BT . e e o

@ c>0 o< = @

® 0<c<1 >a> e O
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@ If L, x42 _y+3 _z45 581
-1 3 2 O+& _ Y"l‘uﬂ _ \"—f—uﬂ J
L E—y__5—2;6 dicul Y - v - \ — kd
2t 5 = = = —— arcperpendicular,
1T—&  o— U )
then3k+2m= .coovvno... TR ¢
................ = (Y + &Y OB paelate

@_1 @2 Y@ \_®
©56 @ 4 ¢ 16

SCETERITEN ST} EREr



(A 3lod W1 AAULY) Al 2l Awkigh g yimnd! - Aalalt 2 g3LAH Al yodh) ALEY) Balgs o Lonlial

9
@ In the expansion of (x — x—12) , find the value : “( *:,» ) S K E
of the term free of x, then find the value of x V’ S o S sl A s

which makes the sum of the two middle terms X . .
gooze Jaxd (Al o ded dayf

S8 b pdawl pasdl
2 G gl

in the expansion equal zero.
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@ If Z; =r(cosf, +isinb;), (B> o+ Bs) J=E& o813
Z, = 1y(cos B, +isinf,) and if .
(Ot Olx) J= & «

01+02=7'[,then2122= ...... - 040 35
- Y +\ o j
............... =&.& o

@ L @ T rd \J_ @ \'J \J @
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If the two planes : 2x —y + kz =5, £ 0L gl 98713
X + ly + 4z = 1are parallel, thenkl = ....... o=ty
onilge VN=EEtoedto

............. _Jel o

- ®s '@ +0
—4 —16 vi- (- ®
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@ Without expanding the determinant, prove that : L ol il samal) & G g
T . Iy7zsd \ \ \
Xy ozl ==y (-2 (=) e
X\ o % Y v v
C  Te T
(=) () (P o) =
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Prove that the two straight lines:  omeniaad| Of i
n=01,2,4)+¢t(2,-1,1) and (Vd=eY) @+ (v =7
r, =(1,1,1)+t,(-2,7,11) are (WeVey—) &+ (Vv =
orthogonal and skew. CoWLB\ie g laelate
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@ If Z= x + iy, then the real part e55d1 Ol uao+w=&£)\5\51
of the numbere?is ............. .| g & suall iisdl

(@) e* cosy (b) e*siny 2 (@ e ()
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Find the different forms of the equation of | sl ii sl | ol i
the plane passing through the points : rda 2l e I (g g
A(2,-1,0),B(~1,3,4) and €(3,0,2). |« ((<T)-)e Lo =)l

(Yoo V)=
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Show that the system: Pl O o
3x+y+4z=0, o =Fi+ o+ mt
2x+3y+52=0, Jip:&°+uav+wy
—x+2y+z=0 Sro=F+ eVt e
has an infinite number of solutions and sl e Bl Y 2.5
find the general from of this solution. . )

.J:J\ \,\@5 G\l EJ},A\ ..Lq.yj
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